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will be replaced nor any extra time will be given. The
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gyuent I

Time Allowed : 60 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A TRAUChd U (50) SgHEE TR fRe ST U TR g (2) 0T ST

| Ty Gred

1. Iftaught on memory level of teaching,
the students get tremendous power
for acquisition of .................. .

(2) factual information
(i1) generalized insight
(zit) problem solving abilities
(A) Only (i)
(B) Only @)
(C) (@) and (@1)
(D) @) and (ii7)
2. The teacher should choose teaching
method considering ................. .
(2) Nature of the learners

(z1)) Nature of the objectives to be
realized

(zii) The teacher’s own ability and
proficiency

(A) Only (@)

(B) () and @2)

(C) (), (@) and (i)
(D) Only (@7)

SR HALOAA Tl (memory) e
HEEREGINRE BIEZIE]
TueETeT faareror vt fese.

(i) eTedtaeh AEdt

(i) W= STagsl
(i1i) FF= TRt afe
(A) ®aa (i)

(B) = (i)

(C) () @ (i7)

D) Gi) o (i)

() IR WEY

(i) 9T HUEAr 3fEw Wed
(izi) TeregemT= T = &y SAfor forgoraT
(A) e (i)

(B) (@) smfor (if)

(©) @), Gi) s (i)

(D) =des (ii)

[P.T.O.
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What is the main characteristic of
gifted students ?

(A) They are introvert in nature

(B) They are dependent of their

peers
(C) They are extrovert in nature

(D) They are independent in their

judgement

For adult learners, instruction needs

to focus ....ccceuunnenn.. .

(A) equally on the process and the
content to be taught

(B) less on the process and more on
the content to be taught

(C) more on the process and less on
the content to be taught

(D) equally on the process and the

product of learning

.......................... evaluation gives a
clear idea about understanding of
the student regarding particular

content.

(A) Placement
(B) Formative
(C) Summative

(D) Diagnostic
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yfauea faeneats qea afiteg &m
A ?

(A) 7 SIaHE EEI SFHA

(B) T T=A1 TFETEATIER Taeiad STHAM

(C) d EE ST

(D) q = FuEmsd =aT 19

TIe SAITHEIS, T
W U] TS ST

(A) Yt anfor feTenaoar=n 9T IR
TR

(B) wfsaer =1 emfon RRreravar=an
ST ST

(C) yfrgear Srg enfor TeTeRauamen
AIEET Ul

D) gfear afor steggar=n afiurs
(Product) e HL@ETH

faeneat=n fafymse SR SAThRa-

qqu‘qﬂl H‘lbd q;,qqr“ ................. Wl—qq

(A) TR
(B) ATRIH
(C) HrhTi=n
(D) “&TR
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............. is the characteristic of

qualitative research.

(A)

(B)

©)

D)

Emphasis on numerical data
Focus on statistical analysis

In-depth exploration of meanings

and experiences

Strict adherence to experimental

designs

......... is a limitation of positivism

in research.

(A)

(B)

(&)

(D)

It ignores the importance of

empirical evidence

It tends to oversimplify complex

social phenomenon

It places too much emphasis on

subjective interpretations

It encourages bias and personal

opinions in research
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(A) TEIHF Weder (SIR) W

(B) TS fagemmmer aey

(C) gt onftl SyE= W@ 3ied

(D) 9T Ugd=a ANESdd Uk

faehed TR

B TehIIcHS: TINHATE] Haie]

(A) STIIES U= AT e o
ETU

(B) sifasifeet TSR Seel ST

fa fo
U] Ud]

(C) =AfFEe 2TedfTe=m HTvaER S
T T

(D) TRUATHE TeIIIgoT 3707 S feren
T T UieEEd <0

[P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

10.

= |V

................... is referred as “citation” in

the academic writing.

(A) A reference to the author’s

personal experiences

(B) A way of giving proper credit
to the original source of

information

(C) A fictional element added to

enhance the narrative

(D) A personal opinion included

without supporting evidence

............... type of research misconduct
involves making up or falsifying
data.

(A) Plagiarism
(B) Fabrication
(C) Misinterpretation
(D) Biased sampling

ICT tool is essential

for creating and managing biblio-

graphies in research papers.
(A) Statistical software
(B) Reference management software

(C) Spreadsheet software

(D) Project management software

10.
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....................

O IR G IR ECRIE L]

"I 38 =UEE.

(A) e Safdae ST T

~

(B) Hrecir=a1 Hos Wil 3 Tl SRo-ay]
(shfee) <uamn wm

(C) &Y9 dTefargEd! el &
HIeq-e AT

(D) Y qUeniEr HHIfas Selel

Tgfage w1

Al 221 TR L0 fohar @er €21 T8r

HLO GHE 3TTR.

(A) wfefers =wl/arema 9

(B) =AmEq

(C) T rdfTa=r

(D) 9wt AT e

I EHTHE T TR e, S

...................

o= SO ST

1L IS
(A) HifeTsht HFasR
(B) g =Howee HiwRds

(C) Ereyie AiRasr

(D) WeheU AR HITEd3T
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Directions :

Answer question Nos. 11 to 15
based on either English passage

or Marathi passage :

It should be remembered that the
Nationalist Movement in India, like
all nationalist movements, was
essentially a bourgeois movement. It
represented the natural historical
stage of development, and to consider
it or to criticize it as a working class
movement is wrong. Gandhi
represented that movement, and the
Indian masses in relation to that
movement to a supreme degree, and
he became the voice of Indian people
to that extent. The main
contribution of Gandhi to India and
the Indian masses has been through
the powerful movements that he
launched through the National
Congress. Through nation-wide
action, he sought to mould the
millions and largely succeeded in

doing so. He changed them from a
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£ :
U9 Wi 11 9 15 § Ue faoiemn

TSR AT U=l S8 = ¢

aTo ToRATSTel TSIy HRRISE wSe]
&l fovaehiel, Wegehiyl, YO T
TR TSMIE! ITHATAT SHAN daedl

A, Iehe THMST JUaSt YT,

qifecd, H&hdl A= Feddew YEd
feett. & fafaw v 2@ ufed, d
UehTeh! Teqsiiel fepen Toavedl el

IS THRIo%S S AM9eT S o

FUM e AeMeaH, fafay aifes

. ~ LN LY LN W N N
qiiqa;i, Hilecd HHCAAT HUSHIST <h[VId

T, &Y o™ faemae TsehR

NN b Yo
el 7 3Tl HITYeh TSTeh T TEeTel

fohal TedTed] TSITel STeAel hivaTdTa!

o R it
THAT hld HIEEE IT=A0 oMYA

& Bd omfor fad=w efed. eATgen

[P.T.O.
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demoralized, timid, and hopeless
mass, bullied and crushed by every
dominant interest and incapable of
resistance, to people with self-respect
and self-reliance, resisting tyranny,
and capable of united action and
sacrifice for a larger cause. Gandhi
made people think of political and
economic issues, and every village
and every bazaar hummed with
arguments and debates on the new
ideas and hopes that filled the

people.

In case of very exceptional person,
like Gandhi, the question of
personality becomes especially
important in order to understand
and appraise him. To us, he
represented the spirit and honour of
India, the yearning of her sorrowing
millions to be rid of their
innumerable burdens. An insult to
him by the British Government or
others was an insult to India and

her people.
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11.

12.

13.

The given passage states that
Mahatma Gandhi largely succeeded

110 RUUUUURRRRR )

(A) fighting against the social

discrimination in India

(B) eradicating economic

inequalities in India
©)

moulding the millions in India

(D) giving political representation

to Indians
What do you understand by the
phrase “to be rid of” ?
(A) Released/freed from something
(B) Tied to something
(C) Increased something

(D) Included something

What did Mahatma Gandhi
represent ?

(A)
(B)

Poverty of India

Working class movement in
India

(C) The natural historical stage of

development of India

(D) The spirit and honour of India

11.

12.

13.
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TRIS 9Te, Aifecd & Tl a1 Hedae

Ed Ufgell S erehlel 1 dred ?

(A) T I1 & & = Wl

N oon

Hlledeh  enlHFIKI

~ 5
She AT

(B) W& WM, Wifecd & HEHdl Hail
Rt STHCATe

(C) AT STe™T= Tevar=l g

SO TR TS

(D) UREIE ST

TfecT WeTiee, Tiecd Uue] I
IO IUfHd B 2

(A) TR feqgsdY 1 URdl HeHS
qaesial Sre Hadi faumas aifteh
TSI hY0l

(B) TaaTedn foar Tearedr ygare
HATHIEAS WU TR

(C) TR HREAET ©qUTo = =0y
(D) THR Ugdid SHOTET 31eded

IREEY

TSIdel Aifafcaeh Hesdosi=l hIvd hid
FIAT B B ?

(A) FURYT o HIETEATE el
IET a0

(B) Toredt fammerien aifefeaenmn 318

|
(C) Hfefcaeh Todeesl AT URrerel

(D) TSN Tifefes 9 aifes ==l
TSIk Y]

[P.T.O.
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14.

15.

16.

eY

The main contribution of Gandhi to

India has been ................. .
(A) strong arguments

(B) the powerful movements
(C) vociferous speeches

(D) intermittent fasts

What, do you think, is the correct

meaning of the term “bourgeois” ?

(A) Working class with utilitarian

values

(B) Agrarian class with moral

values

(C) Middle class with conventional,
conservative and materialistic

values

(D) Lower class with no fixed values

Which of the following messages is
less likely to be misunderstood or
misinterpreted due to cultural or
linguistic background of the receivers
of the message :

(A) message full of written words
(B)
©)

(D)

message full of spoken words
message full of body-gestures

message full of iconic signs

14.

15.

16.
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QLRI &0l Q91 YTeald HRTOM, SRel
o ?

(A) ThIRTR

(B) FUATANM TURH
(C) TroaaIfcieha HUR®

(D) T T

TEd V@A oieh HUS) Toeeias]

TeferTt HISdMT U@ 1 god a8

e ?

(A) =Kl 9 HEAH AT HE
ZIUIE]

(B) wifecadderi=l fowrmol a feme
UREyieRTY faeEd

(C) vra& 2@l A Hhisdl faumE®
FeoelosIq IO T TR <l

(D) YRR I HUESHAT HIE HUS=T
T 0

BTl IO FhI=AT FR I

HehREEheT TReTY Fevar! a1 S

TN 3TaNY @A IR HHI

IFqd ?

(A) 9QUiv0l TrEl I ST Hawl

(B) HYUYYl diel (ISR ) I STEeIel
Bt

(C) IRIRe SEUERA gurdul dehrRere
ey

(D) quiqur SThUfaHr (TERA) famgr
T 9ol
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17 In the Context Of contemporary 17. 'HHOhIQ'I'\I"I‘ rs.r\ﬂdﬂ q—||l>||0¢|0|6|{|d {9“('{]('1
digital paralance what are the TR SIS HIHIER o e T
following symbols collectively called el Sd ?
as - =) —=( ;=) —x

=) —=( ;=) —x (A) =T
(A) Emoji 5
(B) zHifchd
(B) Emoticons ©)
(C) Smiley e
D
(D) Stickers D)
communication identify the incorrect faum == 3@ ?
statement : .
(A) BF T OO WA ST
(A) Silence 1is a means of ) _
communication (B) T3/ HATUATA A A0 HSTT
(B) Non-verbal cues and messages RRERISICIRSIEESIEEIE
are easy to control (C) T3 G99 & G&haramae A
(C) Non-verbal messages are Tl HogASNe ST
culture sensitive and relative s S o
D ve3 Topar fgen waReda O9vsg
(D) In case of confusion, people @) . | ] :
tend to trust non-verbal ST 797 oo
communication more than the SIS TRl el ST
verbal 19. YOR 9Rd M I 7
19. What is Prasar Bharati ? e S e Tt
A) ISR 3T
(A) It is the national level news (A) T -
channel under Door Darshan 1T Ife
(B) It is a news broadcasting (B) STERISTETUI= (TSEST) I JER
service of All India Radio (AIR) e
(C) It is the asso.ciation. of private (C) HRATHE S S S SEe
broadcasters in India
(D) Tt is India’s state owned Public (D) HRATE YIRS HTeTshi= |esii-eh
Broadcaster TR Hal
11 [P.T.O.
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20.

21.

22.

Which of the following elements is
facilitated much more in a
communicative situation wherein
teacher and students are sitting
together in a circular manner facing

each other ?

(A) effectiveness of the content of

teaching

(B) teacher’s power to control every

student
©)
(D)

discipline amongst the students

level of interactions between the

students

What is the arithmetic mean of the
integers from 1 to 51 ?

(A) 24
(B) 25
(C) 26
(D) 27

If 10" (m is positive integer) divides
the product of the integers from
101 to 151, then the maximum value

of m is :
(A) 12
(B) 13
© 1
(D) 10

20.

21.

22.
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Seg1 Toreren amfor faenelf ushiehine dis
& Seeldhdl TAd Sl STHANd, S
AU YHTTHES T TeAUsh]  hIved

HIHTA ATYSH FHONT IS Hosd 2

(A) Toresfavaren e gY9rEigo

(B) v fommemter fAasor 3avam=h
forermT= eqHan
(C) Taeneatneie fara

(D) foemeataeie AATHeRNT T

1 d 51 = qoieh H&AE T A
ferett 2
(A) 24
(B) 25
(C) 26
(D) 27

107 (m ¥F gUieh R) A HEH
101 & 151 =1 qUifsh H&AT=A1 TONRRM
PR 9 S W om = Hied[ Al
fpad fomet 2

(A) 12

(B) 13
(C) 11
(D) 10
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23. Among the three numbers, | 23. fgoi™ar X = 188181811881, Y =
X =188181811881, Y = 881181811818 881181811818 &1 Z = 811881188118
and Z = 811881188118 which TEATIhT ShIvTe T 18 1 3 9m
numbers are divisible by 18 ? R
(A) X only (A) X e
(B) Y and Z only (B) Y & Z %K
(C) Z only (C) Z ™=
(D) X, Y and Z D X, YT Z

24. A person was working to transfer | 24. T =qeit X A1 fohoMIg= Y a1 foskrof
bricks from a place X to a place Y, forel aTgA AvaT= 19 I 3Te. X A1
where the distance between X and Y o1 fommoimsie S 200 Hiew IR
Vs 200 meters AL timethopern | o 1 390 15 frm e 8.
from the place X, after travelling 5.5 X 1 .
km while working, how many bricks e o 5.5 TRl T IR shefet ST
were shifted to the place Y by the Y =1 foshrofl fehcl faer dRMiae ?
person ? (A) 190
(A) 190 B) 195
(B) 195
(C) 210 (C) 210
(D) 215 (D) 215

25. There are 64 deer in a forest in the | 25 W ST el Juid 64 B0 3Td.
present year. If x(n) denotes the S x(n) B & AT SAAA Sl
number of deer in the forest in auidtar sfion=i gwygr evifad 9

3

year n and that x(n)=—x(n-1) for x(n) §x(n D,n=1,23, ..., 36,
n=1,2,3, ..., how many deer are T 5] guidiel N STeTdel Biom=
there in 5th year in the forest ? e fedar ?
(A) 96 (A) 96
(B) 486 (B) 486
(C) 243 (C) 243
(D) 339 (D) 339

13 [P.T.O.
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26.

27.

eY

Which of the following conclusion/s
is/are valid based on the statements
given below ?

Statement I : Some tigers are

goats.

Statement II : All political leaders

are intelligent.

Conclusion 1 : Some goats are not
tigers.

Conclusion 2 : Some political

leaders are intelligent.
Code :

(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2

Some buses are standing facing the
bus stand. Thane bus was ahead of
Nasik bus, which was ahead of
Jalgaon bus. Amravati bus was
behind Dhule bus, but ahead of
Thane bus. Which is the second last
bus from behind ?

(A) Thane
(B) Jalgaon
(C) Nasik
(D) Amravati

26.

27.

GET IT ON
Google Play

APR - 00124/1—A

Teie faum=an STER JEeTdah! shIur/d

o ~

et S

q sTeqd ?
faa= I : = 9= § T eTRa.

faam II : 98 UshE A gfgad
HAId.

e 1 : @ IRt 99 ATE.

foremst 2 : S TS 39 SfEEE
SHdTd.

&E

(A) 1 &
(B) 2 &

(C) 1 =for 2 I
(D) 1 sufor 2 =R AT

TRl o THAEER TR A1 hed 39
3Med. IO oF Tk q5=2 e 378
ST TR a9 ST a&= I TS
SR o9 €68 S=A1 A1 378 T 39
A e 6. W AN TF FoEl o9
I R ?

(A) <

(B) <eTid

(C) i&eh

(D) THYEt
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28. In a code language if JKLM is coded | 28. T&T Wiehfaek 9@ R JKLM = FUMR
as OSVX, then how DEFG will be OSVX 318 R. ™ = 9md DEFG
coded in the same language ? o TUW HE AHA ?

(A) ILNQ (A) ILNQ
(B) JLNP (B) JLNP
(C) KMOR (C) KMOR
(D) IMPR (D) IMPR

29. In a code language if DAC means | 29. Ul Hishfaess 9m0d ST DAC =1 Hehdieh
635, then what will be the code for 635 3191 B, W FEG =1 Tehdalsh &M
FEG ? A ?

(A) 879 (A) 879
(B) 678 (B) 678
(C) 587 (C) 587
(D) 897 (D) 897

30. While facing south, Virat walks 15 | 30. <f&Uhe e &% o 15 T2 T
meters and then turns to his right o7 |7 T o] See e a7 10
and Wa].ks 10 meters. From there he l-nd{ ‘C“Q'k'ﬂ- (-g,”..id{ T—ﬁ \‘S\TIOﬂOh\% deed 15
turns to his right and walks 15 et Tredl. 7 ) eEiES g 15 Hex
meters. Then he turns. to h.is lef.t an.d T, T @ FE v e e
walks 15 meters. Which direction is e e m Bpell siaTEr T
he facing now and how much away .
from the starting point ? .

A , 15
(A) East, 15 meters (&) qj K
(B) West, 25 meters (B) Sk, 25 WIS
(C) North, 15 meters (C) W, 15 HiH
(D) South, 40 meters (D) =fagm, 40 HieX
15 [P.T.O.
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Directions : T
Question numbers 31 and 32 are based U Ik 31 SAUT 32 Wm
on the following information : A SR
AT Sfaeh e faferer feemmoft ¥t
Following is a table representing foreign QUTT=AT UL W=l Hrigdr @H
tourists visiting different places in India AR faerel 21 (3Mehs FTETHeR
in a certain year. (Figures are in lakhs). 31eA).
Type | American | English | French | Other | Total WohTT | el | Efeer | W | s [ T
Place feermor
Agra 6.5 3.8 35 1.2 | 15.0 T 6.5 3.8 3.5 1.2 15.0
Delhi 8.2 8.7 2.7 0.4 | 20.0 Teeet 8.2 8.7 2.7 04 20.0
Chennai 3.7 3.3 2.4 0.6 | 10.0 =g 3.7 3.3 24 0.6 10.0
Udaipur 2.8 1.3 1.5 04 | 6.0 TETqT 2.8 1.3 1.5 04 6.0
Bangalore 3.0 1.2 1.3 05 | 6.0 AR 3.0 1.2 1.3 0.5 6.0
Shrinagar 1.0 0.8 1.1 0.1 | 3.0 R 1.0 0.8 1.1 0.1 3.0
31. What is percentage of total number | 31. N IEIH 9 <UTAT TR0l PEIMIEI
of tourists visiting Agra ? geheard fohal 2
(A) 33.33% (A) 33.33%
(B) 25.00% (B) 25.00%
(C) 16.67% (C) 16.67%
(D) 10.00% (D) 10.00%
32. Which type of tourists found | 32. TReelHe v YehRe Ha Faid SR
maximum at Delhi ? HTeedd  ?
(A) American (A) @i
(B) English (B) sfterm
(C) French (C) ®H
(D) Other (D) ¥R

16


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

GET IT ON
Google Play

APR - 00124/1—A

Directions : AT
Question numbers 33 and 34 are based WY TRk 33 ATMUT 34 & YA HTiEe et
on the following information : MR 3Med :
Following table gives itemwise WWWWW‘
expenditure of construction of house. waTat 5"@'5" T T A
Item Expenditure (%) et ikl (%)
Labour 25 : @i' 25
Cement and Bricks 30 fafte snfor fae 30
Steel 15 SUCE 15
Timber and Glass 20 s amifor et 20
Miscellaneous 10 o 10
33. The information in the above table | 83. e WRUNHLTA Hifed! ages Tersmen
is to be represented diagrammatically (Pie diagram) HEFAM SRS TR
using Pie diagram. What will be the Hﬂ‘a T FHAHTHS STHI=] °Igiod‘“°hoatll
angle of the sector representing item (Sector) F17 Tt ofvmen @ ?
labour ?
(A) 50°
(A) 50°
(B) 30° (B) 30°
®) 25° @) 25°
34. What is the ratio of expenditure of | 34. T&He i foar =1 FHeEmEES Freie
the item cement and bricks to the T ST AYERTHIES! Hoied TR
total expenditure of construction of Sl TR T S ?
house ?
A 1:3
(A 1:3 (A)
B)1:14 (B) 1:4
© 2:5 € 2:5
(D) 3:10 (D) 3:10
17 [P.T.O.
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35. The following (X, Y) points are

36.

plotted on X-Y plane and the

adjacent points are joined by smooth

curve :
X Y
1 60
2 30
3 20
4 15
5 12

What will be the nature of curve ?
(A) Straight line

(B) Parabola

(C) Hyperbola

(D) Exponential curve

Identify the correct pair from the

following :

(A) Pxl — unit of focus of digital

cameras

(B) HDD - unit of high definition

of digital screens

(C) Kbps — unit of data transfer rate

(D) Ghz — unit of memory storage

on digital devices
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35. e (X, Y) foig X-Y aemer @ a

36.

g fog f1ae (smooth) ™ e ¢

X Y
1 60
2 30
3 20
4 15
5 12

I TehTd TWEY HIA A ?

(A) W T

(B) =& (Parabola)

(C) s (Hyperbola)

(D) =ikt 9% (Exponential curve)
TeAedeh! IO SISl a7 e ?

(A) Pxl - fefSea S By A=
TFhh

(B) HDD - fefSea w==m=a ==

Tead  (SfREE) T

(C) Kbps — faa1 (221) &= o=
Ueheh

oo~

(D) Ghz — fefsea Sytommeial ]

HISaUehi= Taheh
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When you access a site with ‘https
instead of ‘http’ in the address bar,
it primarily means :

(A) You are accessing a speedy

connection

(B) You are accessing a secure

communication

(C) You are accessing a single date

line transfer
(D) You are accessing a smartphone
friendly website

Which of the following shows the

correct chronological order of the

first launch of these internet based

facilities ?

(A) YouTube, Gmail, Instagram,
Wikipedia

(B) Wikipedia, YouTube, Gmail,

Instagram

(C) Gmail, Wikipedia, YouTube,

Instagram

(D) Wikipedia, Gmail, YouTube,

Instagram

317.

38.
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‘http’ TSt ‘https’ T SUST 78R
FSHARALY STHUNT Sedee Tl Siel

SOl dedl gl

(A) T AN SR S (S1€) T

STl

(B) T ad HUk i€ aTaa STl

(C) ToeT exdior=n Uehe |1 ST STET

(D) TEHEAE SFIEY dodge AT

STHAI

oo

seealle Eele fef

2o HaT TageH

gE a9 A1 FeRsmer. @reftee]
HIVEA THE FFE HITIRH Seifaar ?

| T e MR B i

(A) Jga, STHe, s, fafmufen

1, Y2ga, SiHe, T

o o hr

[dfentursal, J2gd, T

(D) faferfafean, sitHe, g, T2mm™
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Which of the following has not been
appointed as a national coordinator
for SWAYAM to ensure the quality

of the course content ?

(A)

Indian Institute of Science

(I1Se)

(B) National Institute of Open

Schooling (NIOS)
©)

Indian Institute of Management,
Bangalore (IIMB)

(D)

Consortium for Educational

Communication (CEC)

In the context of ‘Web 2.0’ digital

environment what does the

abbreviation UGC stand for ?

(A) University Grants Commission
(B) User Generated Content

(C) Unique Graphic Coding

(D) Universal Graphic Chip-set

When were Millennium Development
Goals (MDGs) adopted by the United

Nations ?
(A) 1990
(B) 1995
(C) 2000
(D) 2010
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wIHad (SWAYAM) SAeAThH=A
SISt eI A
HIVET GEIE TR THTS U
fradt gmerelt TR ?

(A) “RETE T T (STaeTaTE)
(B) U= Hea Tommersft finerm ween

(TAAASATH)
(C) RAE SHIEUMA FE 7 &

(AT THS )

(D) defforer TR geAm (HEET)

‘I91 2.0’ Tefstea =erd=n "euid UGC
T AN o ®d  @efieliehl hIoTdr
(Susit) &= gEifad 2

(A) gifeerde! fieq HiTHE

(B) T STIE e

(C) JFe TR whITeT

(D) FfFeedct Aither Ted-¥e

ial

g sl wWeuTt fawrg sfese

(MDGs) &t &=iehRe ?

(A) 1990

(B) 1995
(C) 2000

(D) 2010
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42. What is the target year for achieving | 42, vmveq famm sfEse giem woamEmSt
the Sustainable Development FreffE ad o ?
Goals ?
(A) 2020
(A) 2020
(B) 2025
(B) 2025
C) 2030
(C) 2030 ©
(D) 2040 (D) 2040
43. Which of the following is the effect | 43. @CCIIeh! IV FHTRHE T LT
of photochemical smog ? gy 3me ?
(A) Headaches, eyes, nose and (A) ShgEl, TIe, AT, 9 el SedeTes
throat irritation
(B) X STfr aaear™ faehR
(B) Gastrointestinal disorders
(C) #fusm fohR
(C) Renal disorders
(D) Bone disorders (D) %
44. What is the term for the process of | 44. WA GEASIEE GUTO FHI0ATA]
inoculating microbes into soil ? gfshdel 1d WU ?
(A) Bioventing A) Sfgs-friga
(B) Biostimulation (B) Sifersh-3ws
(C) Bioaugmentation () Q&-‘*ﬁﬁﬂ ST I
(D) Biosparaging (D) Sifer fereswmn =
21 [P.T.O.
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Which component of a solar panel
is responsible for directly generating
electric current when exposed to
sunlight ?

(A) Inverter
(B) Semiconductor material
(C) Reflectors
(D) Batteries

Environmental Education is not just
awareness and knowledge, but it is
also development of ................ .

(A) Deeper knowledge
(B) Theoretic knowledge
(C) Proper attitude

(D) Proper concepts

Indian education system generally
is divided into following periods :

(A) Vedic period, Buddhist period,
Muslim period, British period,
Post-Independence period

(B) Hindu period, Buddhist period,
Jain period, Muslim period,

British period

(C) Vedic period, Ramayan period,
Mahabharat period, Jain period,
British period

(D) Upanishadic period, Puranas
period, Buddhist period, Muslim

period, Modern period
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AU Hhid SR U qZerr=
SR Feek 92 fagygd gare fmior shtoam

SeeER THal ?

(A) eT@e faegd qaa a7
(B) srdEaTes® AIFRA

(C) ek

(D) fosill 5=

ety fagw § we Sofla St 9

A e, W AW EIREEICE
sfida e

(A) wEre I

(B) ¥ dH

(C) =rg Afret

(D) I Heheo

YRATE 870 FHaesel 9Hd: ened
9r &l S

..............

(A) 3fcsh e, 95 e, GeT Fie,

fafesr e, WA T2

(B) &g =es, S5 e, S e, Tfewm™
Fles, Tyl Fhlw

(C) dfch FTs, U Fles, HEURA

~

FTe3, SF HTes, o

19T hicd

(D) 9IS HTes, TV F1es, A5 Hles,

A *B, IMYTH Fs
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48. In correspondence education system

the following things are included :

(A) Only guiding instructions

(B)

Only solved answers through

letters

(C) Guiding instructions and solved

answers

(D)

Guiding instructions, solved

answers and occasional lectures
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48. TIHTENIgR T¥eT0 =Heeed @i
e FHEY Bl ;

(A) FR ANGER AT

~

(B) wed Href

n

i

GG UL

(C) wrieeer = omfoy Hisfaeret 3w

~ N~

(D) HATiEYie YT, Hrsferetedl 3T

JrEiT S

49. The First Open University was | 49. Ufsedn Ho faemdicr=] 499 1969 7&
started in 1969 at ................. A | e AY T HTAT
(A) Chicago in America (A) HRhdE e
(B) Milton Kenis in England (B) SoieHde faeed g
(C) Paris in France (C) whrymdie Ui
(D) Delhi in India (D) ¥Rardiel e
50. According to Muslim System of | 50. gfeem fWaw TgdgaR ‘wewr’ ¥
Education, ‘Madarsa’ is supposed to | i iz ToeE W
be the centre of ................ .
(A) wiartaes fererm
(A) Primary Education
B) wreAfdes o
(B) Secondary Education (B) o
(C) Higher Education (C) v=a ferarm
(D) Technical Education (D) it e
23 [P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

ROUGH WORK

24

GET IT ON
Google Play

APR - 00124/I—A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

